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~ Interactive Question (B>
A box has two forces acting on it as shown by the arrows
which have the different lengths and point in opposite
directions. What can you say about the motion of this
box?

A) It is definitely moving to the right

B) It is definitely acceleratir « to the right
C) Both of the above

D) None of the above
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- Interactive Question @

A net force F is required to give a mass an
acceleration ». If a net force of 6/ is applied to a mass.
2 =, what acceleration results.

A) -
B) 2.
Q) 3.
D) 4+
E) 6.
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Problem: A 12 mowo._v truck (which wmm a mass of 5680
kg) 1s .:m:\@:bm at 33 mi/hr when it applies its brakes and
comes to a stop jn 4S5.seconds. What was the average net

force stopping the truck (in Zwéﬁosmvo
Givea Vo s Ialhp = 0% 72ms

\\hﬁ ?\.&.0%:\98 to force? modhﬁp
Kiheadt/c & 5 fak a

V= Vet+at a= L=¥e ....M.. =




Interactive Question @

A constant force is mombm on an object. Which of these
graphs best represents the velocity of the object?
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Interactive Question O

Two equal forces act on an object in the directions shown.
If these are the only forces involved, what can you say 18

definitely true about the motion of the object?

A) Tt is moving at a constant ve ocity.
B) It is speeding up | |
C) Itis m_ﬁoéw,,« down

D) It is accelerating

E) Zo@:ﬁn* ot enough information




